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 – I 
      : 
1.    :    14 
 (1)    (2)   
 (3)   (4)   
 (5)    (6)   

 (7)   
 

2.    P(A  B) = P(A) + (B) – P(A  B)  14 
 

3. (a)       . 7 
 (b)        :  7  

X 66 40 35 75 65 80 35 20 65 55 33 
Y 30 55 68 28 76 25 80 85 35 45 65 

 

4. (a)     ?       . 7  
 (b)            y = 30   x 

      7 
  n = 9, –X = 30, –Y = 40, (x – –x)2 = 120, (y – –y)2 = 346, (x – –x) (y – –y) = 193.  
 

5.     .   14 
 

6.      .   14 
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7.      ?    .  14 
8.             14  

 Q1 Q2 Q3 Q4 
2018 65 58 56 61 
2019 68 63 63 67 
2020 70 59 56 52 
2021 60 53 51 58 

 
 

 – II 
9.     (  )   8 
 (1)    . 
  (2)  P(A) = 13, P(B′) = 14  P(A  B) = 16 ,  P(A  B) = _______ .  
  (3)       .    
  (4)    . 

  (5)     . 
    

__________ 
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Part – I 
Write answer of any three questions :   
1. Explain the following terms :    14 
 (1) Mutually exclusive events (2) Independent events 
 (3) Exhaustive events (4) Union events 
 (5) Intersection events (6) Complementary events  
 (7) Difference events 
 
2. Prove that, P(A  B) = P(A) + (B) – P(A  B)  14 
 
3. (a) Define probable error and discuss its uses.  7 
 (b) Find rank correlation coefficient from the following data :  7  

X 66 40 35 75 65 80 35 20 65 55 33 
Y 30 55 68 28 76 25 80 85 35 45 65 

 
4. (a) What is regression ? Explain difference between correlation & regression.  7  
 (b) Find regression lines for two series using the data given below and hence estimate                    

x for y = 30.   7 
  n = 9, –X = 30, –Y = 40, (x – –x)2 = 120, (y – –y)2 = 346, (x – –x) (y – –y) = 193.  
 
5. Explain in detail characteristics of a good estimator.  14  
 
6.  Write a note on hypothesis testing.    14 
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7.  What is time series ? Explain its components in detail.  14 
 
8.  Calculate the seasonal indices from the following data :  14  

Year  Q1 Q2 Q3 Q4 
2018 65 58 56 61 
2019 68 63 63 67 
2020 70 59 56 52 
2021 60 53 51 58 

 
 

Part-II 
9. Answer in short : (Any four)    8 
 (1) Give the modern definion of probability.   
    
  (2) If P(A) = 13, P(B′) = 14 and P(A  B) = 16, then P(A  B) = _______.  
    
  (3) Give the formula of Karl Pearson’s product moment method.  
    
  (4) Give the formula of probable error.   
    
  (5) State the uses of time series analysis.  
    

__________ 


